0o
no

(Bt : Mg

T8 a8 4 o 2o H 2
& A 872,431
19 271 27 23,000
12 |M56RE MARISS ' 7|0k HAt xS 3,000
ASSMRH YYWEYAS B EHE 4R 20,000
28 44 2 79,780
28 2010 M3l MY E ZHLUO|FH 2D 30,000
R8sl AHNAINZAIH BE 3 50,000
A AHIIE0Y wx D 10,000
2010 ZHUBNE SRBS AY 2Z3 210,220
3% 1671 27 450,940
3% (20101 XIR4BSMAL BEAYH 2E S 5,000
2010 EHR7 BI% 50| #AF 5 3,000
A103| M= 23715 sl #Ab xS 3,000
2010 ZHUBNE SRHYS AY 223 42,000
2010 ZEAX|LI0|ES0] W x 40,000
20108 #HHMY E35H 2X3 13,000
R8sl AN AIZHIH ¥ E 2 (2R 50,000
H153] o3| BHEn KO3 2 X3 27,000
A163 A#of2lold 2R #ES 50,000
20108 & A5 BfS2HA 05D 108,000
20108 ETOIH M3 53 70,000
SEXEX S B xD 5,000
4-HRSHA X2 253 13,000
=M EeD 2Y 2E3 4,500
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(Bt : Mg

T8 a8 4 o 2o H 2
38 |SEXEA T3] ZH XY wx D 7,440
YRR EESS 10,000
48 471 27 35,122
48 (2010 Mol HBOH =S ZELLOISH X HHTI dhet ~278
20108 AW E3te o2 BsstD W x D 2,400
®303| Zojelel ' 7| A I StErEnig HAKIY B3 13,000
2010 ZEAD BEHA 212 20,000
5% 171 27 12,000
5% |M553 HEY FEHA BE D 12,000
6% 1671 27 191,700
62 (M8 ZHHBIFAIH 222 (HE) 50,000
AHAAS B SIE NS ESUE wx D 3,800
R|223| MEE BHto| & WA A 4,500
2010 AIRIQHE 7| Ak #AF 253 1,000
2010 SX 90| BEH0|7| HA 22 2,000
2010 HS 2 Bx 3,500
2010 ZE = K| LIo| ES0f XA (57 20,000
HEH B2 23iLtis ZME Bl B 53 50,000
A143 W250rQlch 3] YA} v xS 1,365
20108 & ZHAIYh3| w52 12,000
R2s) ZHA RIEFOYQ Ko B F Ry 25 1,335
R43) A= solelel ¢ ®It wx 200
Agolglo|d stapg Al v x 10,000
H73) PRoL HYBI|hE w xS 10,000
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(Bel - M
7= g2 & W 9 = H[ 1
2010 = A+ HIlSEHA 2Ex2 5 12,000
68 (2010 ZXOI7IM MEUTH3 & 10,000
7814 2A 2,000
7y |LSAL ARSI HHWLS A 5000
WSANIO U MOILHES et 2x 5 :
83 14 2 200
82 |A152] (\)ESAMAZAASS XN EXH,2 FHILEES 200
98 34 A 11,700
92 |Al143] kol d Ex g 7,200
Ci2etrtd d4d B2 AMY 225 3,000
M4z ol SHIH3| 7HE 0| GHE 2x 5 1,500
108 24 27 3,935
1028 |M23 SSTHQ SBME 2 FT| HA Ex 5 3,000
313 el xFole & 7ld EsAAel SXthe 2x5 935
118 44 27 53,000
118 (M52 dEEHIIRN 2Ex5 27,000
HE0IE St2E ng BXF 4,000
20108 Hotrts S & uSAL Y S5 A0 OE =X 2,000
ASEEHY| A2t M SHE XS YA AL XA H| 20,000
128 37 24 9,054
128|489 4 ECI®EA 22 13,000
2010 XS0 E=2:0|7| A Ex = A2,000
2010 = A+ HIfSEHA 2Ex2 5 A1,946
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